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Read the sentence given below to find out if it contains 

any error. The error, if any, will be in one part of the 

sentence. If the sentence is error free, select No error or 

option (E). Ignore error of punctuation if any.



The Covid-19 lockdown has (A)/ produced the quieter 

(B)/ year for the world’s oceans (C)/ in recent memory. 

(D)/ No error (E)

1. (A)

2. (B)

3. (C)

4. (D)

5. (E)



Since 1980, position (A)/ of the poles has (B)/ moved 

about 4 (C)/ metres in distance. (D)/ No error (E)

1. (A)

2. (B)

3. (C)

4. (D)

5. (E)



The kingdom’s lineage /(A) and its association /(B) with 

the empire, /(C) can be trace back to its origin.(D)/ No 

error (E)

1. (A)

2. (B)

3. (C)

4. (D)

5. (E)



The taxation of digital (A)/ companies have (B)/ been a 

key concern (C)/ for G20 countries.(D)/ No error (E)

1. (A)

2. (B)

3. (C)

4. (D)

5. (E)



As the ice melts at pace in the (A)/ Arctic, the mining and 

shipping (B)/ industry has carved it an (C)/ opportunity 

out of the crisis. (D)/ No error (E)

1. (A)

2. (B)

3. (C)

4. (D)

5. (E)



The given question has one blank indicating that 

something has been omitted. Choose the word for the 

given options that could fit in the blank correctly.



German police have been ___________ a shelter for 

migrants in western Germany

1. destroying

2. ending

3. plugging

4. twisting

5. searching



There are primarily four ____________ of making 

biscuits in the factory.

1. stages

2. stairs

3. purpose

4. cause

5. important



According to the latest official estimates, India's literacy 

rate has _______ by approximately 500% since 

independence. 

1. damage

2. taken

3. risen

4. carry

5. swing



As a psychic, Samantha's specialty was being a ________, 

she was accurate in reading people's minds 50% of the time.

1. Clairvoyant

2. Telepath

3. Communist

4. Capitalist

5. Gymnast



While emphasizing the role of investment in stimulating the 

economy, the Economic Survey also states that the twin 

balance sheet issue has to be _______ on an urgent basis.

1. Invigorated

2. Neglected

3. Focused

4. Revoked

5. Addressed



Rearrange the following five sentences/group of 

sentences (A), (B), (C), (D), and (E) in the proper 

sequence to form a meaningful paragraph; then answer 

the question given below them.



(A). The IAS is a part of the permanent bureaucracy of the 

nation, and is an inseparable part of the executive of the 

Government of India.

(B). Upon confirmation of service, an IAS officer serves a 

probationary period as a sub-divisional magistrate.

(C). The Indian Administrative Service (IAS) is the 

administrative arm of the All India Services.

(D). Completion of this probation is followed by an executive 

administrative role in a district as a district magistrate and 

collector which lasts several years.

(E). IAS officers may enter the IAS by passing the Civil 

Services Examination.

the correct 
sequence is 
CAEBD.



In the passage given below there are blanks that are 

numbered from 1 to 5. Find out the appropriate word in 

the case that can most suitably complete the sentence 

without altering its meaning.



China’s economy is showing signs of a ——–1——–. 

According to figures released by its National Bureau of 

Statistics on Wednesday, the Chinese economy ——2—

— at 6.4% in the first quarter of the current year 

compared to the same period last year. While this rate of 

growth is equal to the ——–3—— registered in the 

December quarter and faster than economists’ 

expectations of a 6.3% expansion, it is still ——–4——

— than the growth rate of 6.8% recorded in the same 

period last year. Retail sales and factory output also 

showed strong growth ———–5———.



China’s economy is showing signs of a ——–1——–. 

According to figures released by its National Bureau of 

Statistics on Wednesday, the Chinese economy ——2—— at 

6.4% in the first quarter of the current year compared to the 

same period last year. 

Which of the following words would most appropriately fit in 

the blank 1?

1. bouncing

2. bounce

3. rebound

4. glanced

5. None of the above



China’s economy is showing signs of a ——–1——–. 

According to figures released by its National Bureau of 

Statistics on Wednesday, the Chinese economy ——2—

— at 6.4% in the first quarter of the current year 

compared to the same period last year. 

Which of the following words would most appropriately 

fit in the blank 2?

1. Grew

2. Grow

3. Growth

4. Risen

5. None of the above



While this rate of growth is equal to the ——–3——

registered in the December quarter and faster than 

economists’ expectations of a 6.3% expansion, it is still 

——–4——— than the growth rate of 6.8% recorded in 

the same period last year. 

Which of the following words would most appropriately 

fit in the blank 3?

1. Accelerate

2. Acceleration

3. Speeding

4. Pace

5. None of the above



While this rate of growth is equal to the ——–3——

registered in the December quarter and faster than 

economists’ expectations of a 6.3% expansion, it is still 

——–4——— than the growth rate of 6.8% recorded in 

the same period last year. 

Which of the following words would most appropriately 

fit in the blank 4?

1. Slower

2. Slow

3. Great

4. Low

5. None of the above



Retail sales and factory output also showed strong 

growth ———–5———.

Which of the following words would most appropriately 

fit in the blank 5?

1. momentum

2. momentous

3. reason

4. weight

5. None of the above
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